commandwindow
clear
clc
close all
format short g
A= [10 -2 1
    -2 10 -2
    -2 -5 10]
B= [9
    12
    10]
C= [0, -A(1,2)/A(1,1), -A(1,3)/A(1,1)
    -A(2,1)/A(2,2), 0, -A(2,3)/A(2,2)
    -A(3,1)/A(3,3), -A(3,2)/A(3,3), 0]
D= [B(1,1)/A(1,1)
    B(2,1)/A(2,2)
    B(3,1)/A(3,3)]
m= [0
    0
    0];
m1= m(1,1);
m2= m(2,1);
m3= m(3,1);
for i= 1:40
    iter (i+1)=i;
    normb = norm(m);
    m= (C*m)+D;
    m1(i+1)= m(1,1);
    m2(i+1)= m(2,1);
    m3(i+1)= m(3,1);
    norma = norm(m);
    error(i+1)= abs(norma-normb);
    if error(i+1) <= 1E-15
        break
    end
end
results= [iter',m1',m2',m3',error']
 
 
    
    

A =

    10    -2     1
    -2    10    -2
    -2    -5    10


B =

     9
    12
    10


C =

            0          0.2         -0.1
          0.2            0          0.2
          0.2          0.5            0


D =

          0.9
          1.2
            1


results =

            0            0            0            0            0
            1          0.9          1.2            1       1.8028
            2         1.04         1.58         1.78      0.79461
            3        1.038        1.764        1.998      0.26289
            4        1.053       1.8072       2.0896     0.096284
            5       1.0525       1.8285       2.1142     0.030258
            6       1.0543       1.8333       2.1248     0.011059
            7       1.0542       1.8358       2.1275     0.003442
            8       1.0544       1.8363       2.1287    0.0012669
            9       1.0544       1.8366       2.1291   0.00039097
           10       1.0544       1.8367       2.1292   0.00014515
           11       1.0544       1.8367       2.1292   4.4383e-05
           12       1.0544       1.8367       2.1292   1.6636e-05
           13       1.0544       1.8367       2.1292   5.0356e-06
           14       1.0544       1.8367       2.1293   1.9076e-06
           15       1.0544       1.8367       2.1293   5.7101e-07
           16       1.0544       1.8367       2.1293   2.1884e-07
           17       1.0544       1.8367       2.1293   6.4705e-08
           18       1.0544       1.8367       2.1293   2.5118e-08
           19       1.0544       1.8367       2.1293    7.327e-09
           20       1.0544       1.8367       2.1293   2.8848e-09
           21       1.0544       1.8367       2.1293     8.29e-10
           22       1.0544       1.8367       2.1293   3.3152e-10
           23       1.0544       1.8367       2.1293    9.371e-11
           24       1.0544       1.8367       2.1293   3.8125e-11
           25       1.0544       1.8367       2.1293   1.0582e-11
           26       1.0544       1.8367       2.1293   4.3876e-12
           27       1.0544       1.8367       2.1293   1.1937e-12
           28       1.0544       1.8367       2.1293   5.0537e-13
           29       1.0544       1.8367       2.1293   1.3411e-13
           30       1.0544       1.8367       2.1293    5.862e-14
           31       1.0544       1.8367       2.1293   1.5099e-14
           32       1.0544       1.8367       2.1293   6.6613e-15
           33       1.0544       1.8367       2.1293   1.7764e-15
           34       1.0544       1.8367       2.1293   8.8818e-16
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